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O viewnints 1 view feedback

Make an inference about this misleading graph.

Number of Games Played

- @0 @6

1t gives the impression that people like to play tennis more than basketball. This graph is not misleading.
1t gives the impression that the number of basketball games is less than the number of tennis games. It gives the impression that the number of basketball games and tennis games is the same.
OUESTION 2

Hind's sister wants to buy a black bag.
Hind found black bags that her sister likes.



Hind's sister wants to buy a black bag.
Hind found black bags that her sister likes.

The bags cost AED 900, AED 800, AED 800, AED 700, and AED 800. Hind told her sister that the average cost is AED 80D,
Is her average misleading?

Yes, the median is greater than the rest. O Yes, the mode is smaller than the rest.

E No, the mean, median, and mode are equal to 800. o 7 Yes, the mean is smaller than the rest.

Decide why this graph is misleading. Price of 1Kg of bananas in 3 counlries.
Select a reason from the given optiens. ~ 180

E |

3 1.00 f I

P L -
Ton) wyt g :‘j
A s ©
Country
The scale of the horizontal axis is not correct. E The size of the bananas is not the same. o ]

The graph title is not comrect. © The scale of the vertical axis is not comect.



The graph is misleading because | the vertical axis does not startat 0. .« v Sales by Size

Quantity
¥ g Ay
|
o
|

UESTION b o size

Sal
The graph is misleading because | the values on the vertical axis are not consistent. .~ w =

Quantity

E
0
E
©
OUESTION B a .

w7 wm e
Year

The graph is misleading because | the gray section looks bigger than the blue section. «» v

OUESTION 7

ENROLLMENT
The graph is misleading because | the vertical axis scale s too large. « v
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Misleading Graphs and Statistics

i

The graph is misleading because | the vertical axis scale is too large. « v

OUESTION B

w24

Compirtnd

Explain why this graph is misleading.

Number of Games Played

- e e e

The number of tennis balls is greater than the number of basketballs.

The graph title is incorrect.

ENROULMENT
-
E
i=
B
§=
o
w  owee wi b
an

The balls are not the same size.

The balls have different colors.

Car Sales



DUESTION 3

The graph is misleading because | the data on the horizontal axis is not consistent. .- +

OUESTION T

Sara's sister wants to buy a black bag. Sara found black bags that her sister likes.
The bags cost AED 600, AED 1,500, AED 760, AED 760, and AED 800.

Sara told her sister that the average cost is AED 884,
Is her average misleading?

Yes - the median and mode, of AED 760 should be used

v

Yes - the mean of AED 800 should be used

Yes - the mean of AED 804 should be used

Yes - the median and mode, of AED 804 and 800 should be used

Number of Cars

Car Sales

Ban

Maoanth

Ape May



€ Back Misleading Graphs and Statistics

Wiy
]

The graph is misleading because | the bars do not have the same size. .« v

Humaid wants to show that the average price of a return ticket to a certain country is low.
Using the given statistics, which measurement can Humaid use to deseribe a lower, average price?

Mean: AED 1,380
Median: AED 1,100
Mode: AED 80D

Median Mean

Quantity

Sales by color

[ het

Color

Biack

Airline

Return Ticket Price
(RED)

800

800

1,100

1,200

mlo|lo|m|=

3,000

AED 400 Mode
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Which graph is misleading?

Sales Sales

£l . . 30
2 0 I I I
w 1 o

2006 2017 28 2010

Quantity
Quantity

FT PR GRS ] Year
Year
Graph A Graph B
Graph A

NISIEAUINE Wraprs ana SLausucs

Mo graph is misleading

v Both graphs

The graph is misleading because | the vertical axis values are not consistent. .- w

Number of Cars.

Car Sales

Fe Mae Apr

Manth
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UESTION & I
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Jun Febs Mar Apr
Mnth
Which graph is misleading?
ENROLLMENT ENROLLMENT
50
oo A

g2 AT

2w Fam| A %

5 & s

FE) — E i

- H
i o
LU TR TTE B ) . 203%  pORE  INT 2018
Graph A Graph &
Both graphs Graph B
No graph is misleading Graph A v

(UESTION B

Using the given statistics, which measurement can be used to describe a high, average price?
Airline Return Ticket Price
(AED)

Mean: AED 1,460



- e gy e e e 1 i e e

TN B

Mean: AED 1,460
Median: AED 1,100
Mode: AED 1,000

Use the data in the given table.

The mean is AED 200,000.
The median is AED 160,000.
The mode is AED 160,000.

Curgleind  horsy
[+]
Using the given statistics, which measurement can be used to describe a high, average price?
Airline Return Ticket Price
(AED)
A 1,000
B 1,000
c 1,100
D 1,200
E 3,000
Median a Mean '
Mode AED 3,000
[+]
Car Type Price (AED)
Hatchback 120,000
Coupe 140,000
Sports 160,000
Diesel 160,000
Which measurement is misleading when describing the average cost? Salon 180,000
€ laxl




Use the data in the given table.

The mean is AED 200,000.
The median is AED 160,000
The mode is AED 160,000.

Mean

Median and mode

Mean: AED 2,600,000
Median: AED 2,000,000
Mode: AED 1,000,000

Car Type Price (AED)
Hatchback 120,000
Coupe 140,000
Sports 160,000
Diesel 160,000
Which measurement is misleading when describing the average cost? Salon 180,000
Turbo 200,000
SUv 440,000
Median
Mode
Using the given statistics, which measurement can be used to describe a low, average price?
3-Bedroom Villa Price (AED)
A 1,000,000
B 2,000,000
c 1,000,000
D 4,000,000




mack

Mean: AED 2,600,000
Median: AED 2,000,000
Mode: AED 1,000,000

Mean

Mode

OUESTION B

NMISIEAUINE QrdpPis ana JLausucs

Use the data in the given table.

Using the given statistics, which measurement can be used to describe a low, average price?
3-Bedroom Villa Price (AED)
A 1,000,000
B 2,000,000
c 1,000,000
D 4,000,000
E 5,000,000
Median
Mean and Median
Shirt Size Cost {AED)
X5 170
5 180
o M 180
is AED| 4 L
ok XL 200
WL 360

The mode is AED| 180 v

The misleading measurement in describing the average cost is the mean.




UESTION 20

Using the given statistics, which measurement could Salem use to describe the price of an expensive villa?

3-Bedroom Villa Price (AED)
Mean: AED 5,000,000 A 10,000,000
Median: AED 4,000,000 B 3,000,000
Mode: AED 3,000,000 c 5,000,000
D 4,000,000
E 3,000,000
Median AED 10,000,000
Mode Mean v
STON 21
Use the data in the given table.
Car Type Price (AED)
The mean is AED 150,000. Hatchback 100,000
The median is AED 120,000. Coupe 120,000
The mode is AED 120,000. Sports 120.000
Diesel 120,000

Wihink mnorummantis miclnading mhnn Anracihine the meen aneb?




OUESTION 21

Use the datain the given table.

The mean is AED 150,000.
The median is AED 120,000.
The mode is AED 120,000.

Which measurement is misleading when describing the average cost?

Median

Median and mode

OUESTION 22

Car Type Price (AED)
Hatchback 100,000
Coupe 120,000
Sports 120,000
Diesel 120,000
Salon 130,000
Turbo 130,000
suv 330,000
Mode
Mean .

Use the data in the given table.




OUESTION 22

Use the data in the given table.

The mean is AED| 146 o] -
The mode is AED| 170 -

The misleading measurement when describing the average cost is the mean.

[0 23

Shirt Color Cost (AED)
Blue 170
Black 160
White 170
Gray 50
Green 180




mack NMISIESUINE Urapns dana JLdausucs

Use the data in the given table.

The mean is AED( 247 x| -
The median is AED( 280 o
The mode is AED| 280 |-

The misleading measurement when describing the average cost is the mean.

OUESTION 24

Shirt Size | Cost{AED)
X3 70
s 280
M 250
L 280
XL 280
XXL 282
[+]

The height in centimeters of a group of students is given in the table below. Which measurement is misleading when describing the average height?

Height (cm)
250 [ 136 [ 145 [ 146 [ 140 [ 133 |

Median Mean

No average is misleading o Mode




Lompare tne tWo grapns DELOW.
SALES SALES

2016 »
2% e 2016
8%

2019 2018
8% 1%

Graph A Graph B

Graph is misleading.

It is meant to show [ an increase in sales in 2018 and 2019 . }

DUESTION 76

Compare the two given graphs.
Salos Sales

- w
% »
- =
= z
Bwm Ewm
£ 2
é x | I I é = I I I
a °
B N7 X My HW mr om0
Year Year
Gragha, B
Graph is misleading.

It is meant to show | an increase in sales, over the years .~ (.
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Compare the two graphs below.

Sales Sales
@ o
" o
> .4
z
Ew £w
Y Bl
10 o
. R
me iz am wme Year
Year
et g
Graph is misleading.

It suggests l an increase in sales for 2019 « w|.

OUESTION 28

Misleading Graphs and Statistics

Make an inference about this misleading graph.

The misleading graph suggests the number of students in the grade 7 classes

are the same except for 7D are not the same

are not the same except for 7A

‘The number of students in Grade 7



~ wen

PROPERTY PRICE

pasE amiscuss)

s mw e mw

The graph is not misleading.

WHIISaUN g W aps @ SLausuLa —
o
Make an inference about this misleading graph.
Show a huge change from 2018 to 2019.
Give an impression of a stable price over the years. l Show a huge change from 2017 to 2018.
o

OUESTION 30

Given the graphs below.
ENROLLMENT ENROLLMENT

SUMBER OF STUBNTS
&

seis mse mar e s s mw s



OUESTION 30

(Given the graphs below.

ENROLLMENT ENROLLMENT
o
o .
L, —
£ T \
fw fom| .
& 5 e
§om . §ow
H ) e
.
s mme s omnm P
TEAR
Graph & Gragh B
Graph is misleading.

Itis meant to show | a consistent enroliment from 2015 to 2018 « v

QUESTION 31

Make an inference about this misleading graph.
PROPERTY PRICE

PRCE MLLIONS]



Back

It is meant to show | & consistent enroliment from 2015 to 2018 .~ v

QUESTION 31

Misleading Graphs and Statistics

24
compesa

Make an inference akout this misleading graph.

The misleading graph suggests the price increases, and then decreases

The misleading graph suggests that the price will increase.

. The misleading graph suggests the price has slightly decreased.

. 2 The misleading graph suggests there is huge decrease in price.

QUESTION 32

PROCE (VELLIONS]

ams

PROPERTY PRICE

o

iy
AR

Make an inference about this misleading graph.
Sales by Size



QUESTION 22 a
Make an inference about this misleading graph.
Sales by Size
o
-
Ew
5 »
&
n
o
Soall Medum  Lege
Size
The misleading graph gives the impression that Medium size is mostly chosen The graph gives the i that all sizes are equally chosen.
ﬂ The misleading graph gives the impression that Large size is mostly chosen. The graph gives the imp: that Small size is mostly chosen.

Make an inference about this misleading graph.

PROPERTY PRICE

PRCE (MILLIOHS)




OUESTION 33

Make an inference about this misleading graph.
PROPERTY PRICE

PROCE (MILLIDHS)

s 1 mer mu
YEAR

a Show a huge increase in the price in the last two years.

Show no change in the price in the last years.

OUESTION 34

The graph is not misleading.

Show a consistent price in the last years.

Make an inference about this misleading graph.
SALES BY TYPE




Make an inference about this misleading graph.
SALES BY TYPE

The graph show no difference in sales by type. Types A and D has more sales than B and C.

The graph is not misleading. Type B and C has more sales than Aand D.

OUESTION 36

Make an inference about this misleading graph. Mumber of watches sold, per year

The misleading graph suggests the number of watches sold, per year | decrease, and then increase « v | =

\/

DUESTION 36 o e m7 we e




Use the data in the given table.

The mode is AED{ 150 |-
The median is AED| 150 |-

The misleading measurement in describing the average cost is the _{Use mean, median, or mode)

DUESTION 37

Shirt Color Cost (AED)
Blue 150
Black 160
White 140
Gray 150
Green 40

The income (AED) of 5 peaple, per year is given below:

The mean is AED 21,600
The median is AED 18,000.
There is no mode.

is misleading when describing the average income of the 5 people.

11,000

12,000

18,000 22,000 45,000




Use the data in the given table.
The mean is AED 24.

The median is AED 14
The mede is AED 12.

The is misleading when describing the average cost.

OUESTION 38

mode

highest price

median

Fruit (per | Price

ka) (AED)
Orange 17
Apple 12
Pear 12
Plum 14
Avocado 65

Use the data in the given table.

The mean is AED 220,000
The median is AED 170,000,
There is no mode.

s misleading in describing the average cost.

Car Type |Price (AED)

Hatchback | 140,000
Coupe 150,000
Sports | 160,000
Diesel 170,000
Salon 180,000
Turbo 150,000
Suv 550,000




The height in centimeters of a group of students is given in the table below. Which measurement is misleading in describing the average height?

Height {cm)
[155] 155 ] 150 | 156 ] 160 | 94 |

Mean and mode . Mean o

Median Mode

The height, in centimeters of & students is given below.

200, 130, 170, 170, 160, 170

The should be used as a measure of center, to emphasize the average height of the students.

mean range highest value

& lastiac



OUESTION 42

ich measure

The table shows the height in centimeters of a group of students. W
of center would you use to emphasize the average height of the students?

Mean

Median

OUESTION 43

Height {cm) |
[135]130] 170 170 [ 160] 30 |

Mode

Mean and median

Decide which graph is misleading.
Sales Sales

Quantity
e BB BEEEES
Quantity
=
E—
E——
T

€ lasl



QUESTION 43

Decide which graph is misleading.

Sales Sales
& @
= s
i 5 W
Em 2%
H 3
& EED
» 0
L L]
nE 20 W e Wl 2007 M8 019
Year Year
Gragh A dragh it
Both graphs Graph B
. Graph A& e No graph is misleading

A small shop sells watches and jewelry.
"

The graph is misleading because | the graph title is not correct, - |.

Phurmber of fruss ssid easch marth



OUESTION 44

S S

A small shop sells watches and jewelry.

OUESTION 46

A small shop sells watches and jewelry.

UESTION 46

DUESTION 47

Compietnd
w
Number of frus sold ach month
"
The graph is misleading because | the graph not correct, [
"
the horizontal axis does not start at 0 the horizontal axis shows no values_ the vertical axis shows no values. 4
e £l EE £ £
o
Number of watches oid each pesr
=
The graph is misleading because | the horizontal axis shows no values .« w|.
N
n
s
o
o couRse
This graph is misleading because | the percents do not add to 100%. .+ w
e
"
o
Larngna
o
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A small shop sells jewelry and watches.

This graph is misleading because | the horizontal axis values are not consistent. .+ w|.

QUESTION 48

o

Number of watches sold each year

The graph is misleading because | the horizontal axis values are not consistent. .- +

DUESTION 49

DEVICE SALES

Given the options, this graph is misleading because | the vertical axis shows no values « +

QUESTION 50

NUMBCR OF DAVIES

o s o wm
VEAR

Number of umbeelas soid from Jerwary to Ageil

This graph is misleading because | the vertical axis shows novalues. .«

- - ™~ ™~

Car Sales
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The graph is misleading because

OUESTION 48

the horizontal axis values are not consistent. .+ w

DEVICE SALES
»
5
5 n -
% . i
o - e
H

Given the options, this graph is misleading because | the vertical axis shows no values «~ v |.

This graph is misleading because | the vertical axis shows no values. .« v

W B awn M
vEAR

Humber of umieeltas sokd from Jaruary o Ageil

™~ - ™~ -

Car Sales




